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.ccl:gsﬁ a; ® Shape of the Earth : Geoid (Not an exact sphere)
/E[%oﬂ 1 STTHTHA 3TR: 4.6 Torfera o que
HETUUT d2 =T
o ® Approx. Age of the earth: 4.6 Billion Years Old
(Important \ ST 3T TLHUM S 23 ¥ 56 fie, 4 Wohe
Facts about Period of Rotation : 23 hrs. 56 minute, 4 se
Earth) \/ T bl UfGhAT STIHT: 365 o 6 52T 9 &5}4,

* Period of Revolution : 365 days 6 hours 9 min.






@ el T Ferd il feig: HISE Tatee 8848 H
® Highest point on the earth : Mt. Everest 8848mit.
/tr%on T G foreret feig: AT ¢

[&c I c,\l I a=q * Lowest point on the earth : Mariana Trench

(Important @1\{@1 H YehIT doh Uge H O aTeTt §8d: 8 fie 17 Hehe
Facts about * Time taken for light to reach from the sun : 8 min 17 Sec.

E arth) / ‘ﬁlc'\&f 9% Land ares 8%
/ STATT &% Water Ared-70.92%
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HET 3 [ atitude : Horizontal imaginary lines. Total 181 in no.
L * QIMATC FEATE
(Latitudes * Longitude : Vertical lines -total 360 in no.
. ° . N0 T s
& Longitudes) /“qu- 0° STeTST Ye=ft T T Tl 7 feraTisd shaatl

* Equator : 0° latitude divides earth into two halves.
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® 1T Tropic of C - 23—=0N
P /obq ropic of Cancer: 237
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Rﬁwzséq TG Tropic of Capricorn: 23— S

JTETTIT AT ¢ / 4 (Poles) : 90° N and 90° S
é'STl?F[ el e 18 9899 (Greenwich Mean Time): 0° Long1tudes

(Latitudes & .~ ° @™ WW@

® International Date}me 180°

/ VHET T O &1 QRTicil o sfter sht gt : 111 fereft

* Distance between two longitudes at the equator : 111 km

Longitudes)



Latitudes are
imaginary
horizontal lines on

the earth’s surface. /
3;ﬁ-{ They are 181 in no.

, v
66, ° N Arctic Circle

with equator being / .
W the longest and the 23, . S
poles being just / Y, o\\ \33?’” Tropic Of Cancer
. imaginary points. Z e u
(Latltudes & The axis of the |j>\ J7

o earth has a tilt of 231”5 Tropic Of Capricorn
Longltudes) 23%“ to the vertical \ / \Ve

axis a fact that

) EE%“‘S Antarctic Circle
determine the
occurrence of _
seasons on the s

earth's surface.
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- The whole world has 24 standard time zones. Each zone

contains 15 longitudes or one hour

3R 0T S YU IR FATE TE ﬂﬁr‘cﬁﬁi.%l

(Standard
Time and

Time Zones)

® Both U.S.A. and the Canadian mainland have 6 time zones.

* ®UH |1 Ak THI R
ussia has 11 time zones.

= T YA A GHT o & H YT M Y TS 1A hsid

AT ol STUT B
® Other countries adopt the central meridian passing through

their country as their standard time.
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* Indian Standard Time meridian : 82 — East

HTTh T T IST, GM.T ¥ 5 ®Z 30 fe 3T 2 :

ﬁ g ® The IST is 5 hours 30 min ahead of G.M.T.
E 180° =i fdfer @ ¥ A< is ABH ol il AR T@ar e al 12 &
(Standard g€ SIId 2 180° I hl ST Sedr @ dl 12 = T gHT FH & Siid 2

Time and 180° 1s the International date line. A traveler keeps gaining time if

moves eastwards and gains 12 hours till 180°E and loses time

Time Zones) westwards. q
o A Tl @ o qof 3R %ﬂﬂtﬂ JA AT 7

® There 1s a difference of exactly 24 hours on the East and West of the

International date line.
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London (Greenwich) India th_LLSJ,'/.)
12:00 Noon 7 5 :M.M.

The 0°
longitude also
called the
G.M.T. and the
I.S.T.

82 1/, differ by
82.5 longitudes,
thus L.S.T.is
82.5x4 =330
min. or
5 hrs. 30 min.
ahead of G.M.T.




Based on the average

availability of sunlight j
90" N /

and temperature, the

earth can be divided
into five climatic belts, FRIGID ZONE iy /
Viz : EE— N Arctic Circle

1. Torrid Zone : Hot // / Tq/M P#R%T
belt. (Between t /
tr‘:&pics}e " y -

1, .
2. Frigid belts : Cold 235 N Tropic Of Cancer
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Temperature each

ID ZONE 0° Equatur'
hemisphere) K/ / / / /
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Motion of The earth displays two kinds of motion:
Earth & Its ®* Rotation on 1ts axis

Impact ® Revolution around the sun 1n 1ts orbit



Q. 1. B fa ST T sht STaIfer H SaetTel T ST i

Fd 87
tr%ﬁ‘iﬁ"ﬂﬁf /> t{%o||°hbll-l-| 3T 3Gk a@

Q. 2. nﬁww Sed 87
>Fa°rﬁtrﬁ—ﬂwaﬁwm@

Motion of
Earth & It Q.'l. Why do we observe a change in the duration
o > of day and night ?
Impact Because of the earth’ rotation and its tilt.

Q. 2. Why do seasons change ?

Because of the earth’s revolution and its tilt.



geeft &t i
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Motion of
Earth & Its
Impact
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*  ISHeRTCA Hshild: 21 S
* 3INE faua: 23 fdeT
~ o RN ~ .
* YfidehTei Eshifd: 22 fagsR
ST I A T 21 /=
SA-HIET: G J SEHT o6 TeealToh T oh T H §HS o T

T AT Jfg TR Ia 2l

Summer Solstice : 21% June.

* Autumn Equinox : 23" September.

*  Winter Solstice: 22" December.

* Spring or Vernal equinox : 215 March.

® Tides: Is the periodic rise and fall of oceanic water under

the impact of the gravity of the sun and the moon.
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tra-cﬁﬁrrﬁm : Earth Motion
~ March 21 7% fas G'Jﬂﬂaf“&mmmﬁﬁ
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» , SUER(Perihelion): Te=ft ST g & sreafers wre Bt 2, o W

ST sik IUER Fed 8| UE R 3 e &1 ardt 8
®* When the Earth is very close to the Sun, it i1s called an
m Perihelion. Such a situation occurs on January 3.
(Perihelion & W(Aphelian): ool STe T © AR U gt g, ar sy
Aphelian) mﬁaﬁr - v\ljc'ﬂ%c 1 Il Tl

® When the Earth 1s at 1its maximum distance from the Sun, it

1s called Aphelian. Such a situation happens on 4th July.



3TEN Aphelion
(JULY 4)

q "',1. ﬁ ?HT
Moon Orbit

3TEN Perihelion
(JAN 3)




/ 399 IR 39 (Perigee & Apogee): ISHT hl el H il 1%@;

SUY AR AU /‘I%ff;hwé sl & IH I HET STl 8 AN g2l ¥ Feid 5L
& &

(Perigee &
Apogee)

e felg ol 1T o AT & ST ST 2
®* The point in the Moon's orbit that 1s closest to the Earth 1s

called the Perigee and the point that 1s farthest from the
Earth 1s known as the Apogee.
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T F <ISHT shl JATHNUT 6 HRT IR ST oh UL 33+ ﬁTﬁRﬁ
ShT SATL-HTET had Bl
® The rising and falling of ocean water due to the attraction of
the Sun and the Moon 1s called tides.
24 B¢ H Tdeh LI W g IR SR 9IT ATdT gl ST &, geaft
\3'5“!-9:“3' . . c N N N o (\C N
qAT TZHT Weh Eteft T@r ° BId ©, I 3okl giraferd 31k o
(Tides) TS dTe SR 3T 2138 (& qUiamel o STHTSET )
gl 2l

®* In 24 hours, the tides come twice at every place. When the

Sun, Earth and Moon are in a straight line, their combined
power results 1n long tides. This condition occurs on full

moon and new moon days.






S Todid ST g, qeell 9 ST e gHeRITl ST =, I
=T o T 1 RN S Tk gL o faolid R R e
ey A SaR o 3w TR STTaT 2

Conversely, when the Sun, Earth and Moon together form

right angles, the forces of attraction between the Moon and
the Sun act opposite to each other. As a result, low tides are

experienced.
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Solar Eclipse

o S foT o wHY G IR geall o Sli= SigHT N1 S AN ¥
SRTRT Shl SISTI SISHT sht TLT3 Y2l W US| 36 fearfd sht g3 Teom

Fed © | IS SHI STHTTEIT I BT 2 |

® When the Moon comes between the Sun and the Earth

during the day, and instead of the Sun's light, the Moon's
shadow falls on the Earth. This condition 1s called Solar

Eclipse. It always happens on Amavasya.
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Lunar Eclipse

e

(o

ST qeall, T S <IEHT o slie 3T S &, At g4 sht A <5
o &1 U5l UTdt I qeeft i ST oh 0T 36 T L BT ST
2 | 34 Rufa = dsueum FEd 2 |

When the Earth comes between the Sun and the Moon, the
light of the Sun does not reach the Moon and due to the

shadow of the Earth, there 1s darkness on it, this condition 1s
called Lunar Eclipse.
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Earth’s e

Interior
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VYT AT g1 ITH STieRel o SATIR W gesfl & ST v
ﬁ?ﬁ? &A1 H SfTeha TohaT SIT Hehall & |

Based on the data obtained by seismic waves the Earth’s

interior can be categorized into three zones:
UST: Fel STell W

The Crust : The outer most layer}

oot Hed Td ST 591 &
/
_The Mantle : The middle layer that 1s fluid (S1 +Ma)

N N\ e
ohlS : UdY HTd{eh YId

L —

The Core : The innermost layer (Ni+ Fe)
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Q.1 In which unit latitudes are measured?

ﬁaﬁﬁﬁ%&rsﬁﬂéﬁww%?
SSC. HAMTET MTS (T-1) 20 f&esk 2017 (I11- T

O’ Ghhady -
~) 87/"& “ (a) Radians AT
- \ (b) Steradian/E{ea

q (¢) (I;egree/@

\

(d) Decimal/a3m™eia
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Q.2 Why 1s 82.5° East longitude important for India?
8250 el QRTTAL VR o fTT T Agearqui 2?2

S.S.C. AFATST TAUTH, 13 s, 2017 (I-9Tet)

(a) It affects the climate of India/ T8 YA =hl ST T
__— 999 SleldT 2

—————

) ItFetermines the Indian Standard Time/Ig YRA™

<~ \|Teh T8 T Eior i 2|
v .
(c¢) Near this longitude is situated Allahabad/s& IR

= 3 U SATRTEE fRord 2

(d) It influences the customs of India/ & HILd & {fd-

St o e STeldl 2l
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Q.3 The longitude distance for an interval of two hours will be equal to
1 1 o STet o foTd qerie gif % SITER BT |

S.S.C. JHATE C.P.0.S L. (T-I) 7 S[ATE, 2017 (I-9TetT)

(a) 15°
(b) 30°
(c) 45°
(L




* 1° SuTie =hl gl T A | qeefl =Rl 4 fie o1 4 AT © | 3
2 Hi¢ I 120 T o SFquret o foIg 30° 2rick Al gl srufera
2|

® The Earth takes 4 minutes to travel a distance of 1° of

longitude. Therefore, a distance of 30° longitude 1s required

for an interval of 2 hours 1.e. 120 minutes.



Q.4 Through which of the following continents all the three lines of latitude 1.e.

Equator, Tropic of Cancer and Tropic of Capricorn pass through?

Fctiad § | fore wRTET § AT S7&TiRr WaTg, S1eid e L@, sheh W@l qoT Herl
eCIR CIRIS TG Y S.S.C. AHATE C.P.0.S I (T-I) 2 S[@TE, 2017 (I- Wreth)

(a) North America/3i TR

©)) Asia/TRTT
(¢) South America/geToT STHIERT
(d) Africa/3ThishT
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.5 What 1s the time difference between any two continuous longitudes?
y =
fore a1 AR 29Tiaq & = 99 7 37dX fohdHT 21dT 22

S.S.C. TS C.P.0.S.I. (T-) 1 T, 2017 (1I- UTef)

(a) 10 minutes/10 e
(b) 14 minutes/14 T
(¢) 4 minutes/4 T
(d) 30 minutes/30 THAE
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Q.6 Which of the following imaginary line lies at 0° latitude?
AfARad | @ Shl9-E shied ek 3@ 0° 37e7i9T T e & 2
S.S.C. AT C.P.O.S.L (T-1) 2 [T, 2017 (I-9Ted)

(a) Equator/ E—TWW

(b) Tropic of Cancer/aeh {@T

(c) Tropic of Capricorn/ﬂ%"{i'@T

(d) Standard Meridian/ AT HEATE @1




Q.7 Which imaginary line divides the globe into two equal parts?

HI-ET SHTeU(-h TG TAlS okl @l SO I H died] 22
S.S.C. AMATET MTS (T-I) 20 sy, 2017 (1-9Teih)

(a) Tropic of Cancer/ heh {1
©)) Equatorf%l‘flﬁ?f kee))
(c) Tropic of Capricorn/ﬂ?(i’@T

(d) Neither of the above/3TUh U U i
e
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Q.8 The Earth rotates by what degree in four minutes?
qeefl = fHE § Tohe 31 HH STl &7
S.S.C. AT MTS (T-I) 14 TSR 2017 (11-UTedT)

40
36°
10°
10




* Tl IR fHAE | 1° ¥ STl © | 36 TohR 24 5 § et
360° =HAT & |

®* The earth rotates 1° in four minutes. Thus the earth
rotates 360° in 24 hours.



Q.9 Which date 1s known as shortest day and longest night?

HI-HT Tater ohl gad BieT o T 999 ot Td o ©Y H STHT ST 2 2

C.P.0.S.I. 75, 2016 (1- 9Tt

(a) 23 September
(b) January 3

(c) September 24
(d) 22 December
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ST TMeTts, | i A (Winter Solstice) DI

(@ .

22 faHeX sl 9N kT HH BT Tad T g8 sl T

Rt 2, STaifer sy STAa S7efd 21 S7 1 9y 1 o
eIt T BIT 21 8ok foreRia fequft e, § 21 ST ol

qerg BIeT fa qur 22 fedet &1 go@ se7 faq gar 21

In the Northern Hemisphere, the 'Winter Solstice'
1.e. 22 December has the shortest day and longest
night of the year, while the summer solstice 1.e.
June 21 1s the longest day of the year. In contrast, in
the Southern Hemisphere, 21%' June is the shortest
day and 22nd December has the longest day.



Q.10 This season comes when the sun comes just above the equator.

I8 HIGH T ST &, ST T e T o 31eh HUL ST R |
S.S.C. AT CHSL (T-I) 11 SHe, 2017 (I-9Tef)

(a) Summer/ JsH
(b) Autumn/9dsiS
(c) Cold/zila

(d) Spring/a€d




Q.11 1° latitude 1s equal to approximately km.

1© TTTST TR feRfY, o SIS BYT 2-
S.S.C. 3AATET CHSL (T-I) 16 315, 2020 (111- Tt

® |° 3TETIT T 111 TohHT. (69

i) o STeR 2l 2. (a) 122

* 1°latitude 1s about 111 km. (69 (b) 145
miles).

(c) 111

(d) 133



